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I SECTION - A
F i) General Awareness
_H 1. Who faces action after rejecting 6. Mohiniattam is a dance form of
Bronze medal in the Asian Games (A} Tamil Nadu
held in Incheon in Nov. 2014 7 (B) Kamataka
(A) Boxer Mary Kom (C) Kerala
(B) Boxer Park Jina (D) Andhra Pradesh
(C) Boxer Saritha Devi
(D) None of these 7. Rickets is a disease caused by the
deficiency of
2 Name of the present British Prime (A) Vitamin D
Minister is (B) Vitamin C
(A) Herman Rompuy (C) Vitamin B
(B) Mrs. Thacher (D) Vitamin A

(C) Michael Fallon

(D) David Cameron 8 Which of the following towns is

tamous for the production of traditional
sarees/fabric ?

3. Place of worship of Jews is
ace of worship of Jews | (A) Bhadrachalam

(A) Church
i {B; Synagogue (B) Kancheepuram
! (C) Cafe (C) Karnal

(D) None of these (D) None of these

|

'| g Which schedule of the indian
|

|

4. The United Nations has how many Constitution contains the list of the
member states ? languages recognized by our
(A) 193 Constitution ?
B) 192 (A} Sixth schedule
(C) 191 (B) Seventh schedule
(D) 194 (C) Eighth schedule

(D) Ninth schedule

5. Recently, a series of uprisings of
people referred to as ‘Arab Spring' 10. Where is Sanjay Gandhi National
originally started from Park situated ? =
(A) Egypt (A) Mumbai

' (B) Lebanon (B) Chennai
(C) Syria (C) Poona
(D) Tunisia (D) Lucknow
Ax* 4
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11.

12.

13.

14.

15.

In 1969, who became the first
recipient of the first Dada Saheb
Palke award 7

(A) Dilip Kumar

(B) Sathyajit Ray

(C) Devika Rani

(D) Latha Mangeshkar

Who is the author of “The Story of My
Experiments with Truth" ?

(A) Pandit Nehru

(B) Mahatma Gandhi

(C) Rabindranath Tagore

(D) C. Rajagopalachari

A very severe cylonic storm Hudhud
made its attack on 12-10-2014 in

(A) Tamil Nadu

(B) Kerala

(C) Haryana

(D) Andhra Pradesh

Who is the “iron man”, to the statue of
whom floral tributes were paid by
Mr. Narendra Modi on October 31,
2014 7

(A) Sardar Vallabhbhai Patel

(B) Bala Gangadhar Tilak

(C) Nathuram Godse

(D) None of these

Expand SAARC

(A) South African Association for
Regional Co-operation

(B) South Asian Association for

Regional Co-operation

South African Association for

Restricted Co-operation

South Asian Association for

Regional Competition

(C)

(D)
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The aim of the Sarva Shiksha
Abhiyan is to achieve universalization
of elementary education by the year

(A) 2007
(B) 2008
(C) 2009
(D) 2010

The Iron Pillar at Mehrauli in Delhi is
believed to record the achievemnents of

(A) Ashoka

(B) Chandraguptall
(C) Samudragupta
(D) Kanishka

The famous bronze image of Nataraja
is a fine example of

(A) Chola art

(B) Hoysala art

(C) Gandhara art

(D) Mauryan art

Arvind Kejrival is the leader of
(A) DMK

(B) NCP

(C) Shiv Sena

(D) Aam Admi Party

ond Ogt. is the birth day of Mahatma
Gandhi and also of

(A) Pandit Nehru

(B) MNarendra Modi

(C) Lal Bahadur Shastrn
(D) V.V.Giri
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(D) 75 & w18 el

SAARC ! Ui Hifsi

(A) HFHY JATFFA IS B
el 1Ty

(B) EF9 ufyrgy w@fuya wit
HEE I B

(C) H1F9 HfFwa IEfwE v
fifeste wisriaiey

(D) HHY ThEs FEifEE B
{1t sitafeem
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T TRt 39 T

(A) 2007

(B) 2008

(C) 2009

(D) 2010

faeet & delieh 1 fem =ie oy
e & For geeft sirimen sifrm g 8
(A) 9T

(B) == li

(C) wHzT=A
(D) e

T i Wit 1 =it wlom a1 39y
IR 2

(A) =TT e

(B) ErEEF

(C) TR el

(D) W e

T2 FritaTeT s ue % Yar 2
(A) o

(B) uAEd

(C) FrEa

(D) =ATH 377eH U

2 e HETen Mt 7 sy feaw R
SR g oft

(A) dfRadss

(B) TR
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i ii) General Intelligence and Reasoning Ability

ik
L1 21. HD=4,BAD=7,thenwhat is the value o7 Select the related word
it OUAINT WOOL : SHEEP : : MILK : ?
_L‘: (A} B (B) 17 A CROW
(C) 35 (D) 87 (A)
(8) CROCODILE
22. ?f, L:’:I acode, F!SdH ii written %ETT;UEJ, (C) COW
in the same code how can e
written 7 () CRANE
(A) UCVD (By VUCD o8  Find the missing number 5:125::3:7
(C) UVDC (D) UVCD (A) 9
| 23 From the given responses, find the Sl
| missing number in the given series (C) 38
4 5,7,10, 14,19,7 (D) 27

| (A) 22 (B) 29, Find the missing number
(C) 24 (D) 286 35 4 60

| 04, Findthe missing date in the given series 74 4 96
A/12/95, 1/1/96, 29/1/96, 26/2/96, 7 5 7 4 140
(A) 24/3/96 (A) 4 (B) 6
(B) 25/3/96 (C) 8 (D) 9
e Directi Qs. 30 and 31) : Which fth
(D) 27/3/96 irections (Qs. 30 an ) : Which one of the

given responses would be a meaningful order

i 2
05 Find the word that cannot be formed of the following words °

286.

A*

from the letters of the word
INTELLECTUAL

(A) TALE
(B) LAME
(C) LATE
(D) ELECT

Select the related word

TALE : LATE :: FACE : ?
(A) CAFE (B) CAEF
(C) CEFA (D) FEAC

a0. 1.Plant 2. Food 3. Seed 4. Flower
(A) 3,1,4.2
(B) 34,21
(C) 1,2.3.4
Dy 4,3.2,1

91 1.Honey 2. Flower 3, Bee 4. Wax
(A) 1,2,3,4
B) 24,31
(C) 2.8, 1.4
(D) 4,321
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21.

22.

23.

24.

25,

26,
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ii) T ggwT A ATfehes TrEET

FfED =42, ANBAD = 7% TANTHT
e 18 7

(A) 8 B) 17

(C) 35 (D) 37
7% v H2 | FISHFT HKUJ ferar st
2 d 3d = § STAB =1 W foray
R ?

(A) UCVD (B) VUCD
(C) uvDC (D) UVCD
ot ==t F @ Tae sjmen 1 e
AT T Tl T

4,5,7,10, 14, 19, ?

(A) 22 (B) 25

(C) 24 (D) 26
e et & T ariE w1 e sy
4/12/95, 1/1/96, 29/1/96, 26/2/96, ?
(A) 24/3/96

(B) 25/3/96

(C) 26/3/96

(D) 27/3/96

INTELLECTUAL 752 % 372 & e
Y1eg 98] 91 o1 961, 98 Yar Fifee
(A) TALE (B) LAME
(C) LATE (D) ELECT
i yres o uae iy

TALE : LATE ; ; FACE : ?

(A) CAFE (B) CAEF
(C) CEFA (D) FEAC

07. TrETUH Yo T w9 HiTa
WOOL : SHEEP : : MILK : ?
(A) CROW
(B) CROCODILE
(C) COW
(D) CRANE

28. EATIAT HEH & Tl T
51290137
(A) 9
(B) 12
(C) 86
(D) 27

29, FIT9AT HEIT 1 U] e
35 4 80
744 986
5 7 4 140
(A) 4 (B) 6
(C) 8 (D) 9

fEw (v 303 - A g e
T o AU FE R 2
30. 1. 9w 2. 34

3. s 4. T

(A} 3,1,4,2

(B) 3,42 1

(C) 1,2,3,4

(D) 4,3.2 1

31, 1. ¥&R 2. T
3. wygmwEl 4. OH :
(A) 1,2,3.4
(B) 2.4,31
(C) 2,3,1,4
(D) 4,3,2.1
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33.

34.

35.

K ia the sisterof F; Gisthe brother of
C : C is the daughter of A: Fis the
brother of A. Who is the uncle of G 7
(A) A (B) C
€ K (D) F

While a group photo of a family was
taken, the father was found to be
sitting to the left of the son and right
to the grand father. Mother was sitting
to the right of her daughter, but left to
the grand father. Who is occupying
the central place ?

(A) Son

(B) Grand father

(C) Father

(D) Mother

In a joint family, there are father,
mother, 3 married sons and one
unmatried daughter. Of the sons, two
have two daughters each and one has
a son. How many female members
are there in the family 7

(A) 2 (B) 3
{C) 6 (D) 9
Find the missing number

15 -8 &

4 8' 5

L

g 51 7

(A) 56

(B) 51

(Cy 120

(D) 12

36.

37.

38.

39.

40.

JDD-41/TGT-MATHS/X-14

John runs a distance of 3 km towards
North ; then turns to his left and runs
for 2 km. He again turns left and runs
tor 3 kms. At this point he turns 10 his
left and runs for 3 km. How many km
away is he from the starting point ?

(A) 5km (B) 3km
(C) 2km (D) 1km

if the letters of THILAK are coded as
268451 and PRABA are coded as
27595 then how can BHARATI be
coded 7

(A) 9657538
(B) 9567538
(C) 9675538
(D) 9567568

Find the odd group from the given
responses.
(A) 52,68
(B) 63,67
(C) 64,80
(D) 50,66

i " oH M (TR

If “+" means "x ", "=, means '+, %"
means “+ " and “+" means “«" then
18 4+6=-2x 3 5+ 5=17
(A) 10
(C) 30

(B) 20
(D) 40

S is taller than Q and shorter than P,
R is shorter than T but taller than P. If
they stand in a row in theascending
order of their height, who is standing
in the middle ?
(A) P

(€ R

B) Q
(D) S
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32.

35.

KT FH T8, GIRCHIURE, C
TE AFISAR, FEEAFIYEE, TG
FEETHRAS ?

(A) A

(B) C

(C) K

(D) F

ST Ueh TG ST HHE Thie) G T ae
e @2 o) =Rl o 3 3T % =i
3T 9T T | W A w5 et
IR st oft Sl smen % ol TR off |
FE H WHA AS12 7

(A) =2

(B) ==

(€) fum

(D) i

e Ege T e, @i, 3 fenta o2
s s wEERaad 2 H, S =
T o Al © o7 UF 1 UF 9
¢ | 35 gftan § niten g e ® 7
(A) 2 (B) 3
(C) 6 (D) @

SATIAT WEAT 1 941 AR
15 & 20
B 5
3 20
51§

&Glo =

-11-

36.

< P

38.

39.

40,
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Wt 3er o <t otx 3 R ah. e R,
o ar ol sRges 2 . Ag@® |
T 92 U aR TR K gee 3 T H1.
et | 30 g wag ol stRgwar 2
3. i gl gl wm e | s
Frgdsmae I @i wR ?

(A) 5T, (B) 3T,
(€) 2% (D) 1T

a8 THILAK®! 31er %2 1 368451 for@
s § 31T PRABA #1 27595, a1
BHARATI &1 ¥& g2 o fog@h ?

(A) 9657538
(B) 9567538
(C) 9675538
(D) 9567568

oy et & P e v B
(A) 52,68
(B) 63,67
(C) 64,80
(D) 50,686

Ife " &1 UaeE " 8, -, T Haes
4" B, " RT HaETE " SR YL
AeE "8, A 18+6-2x 3+ 5=7
(A) 10 (B) 20
(€) 30 (D) 40

STEQUAFTRARPE AR, RTET
FAeId e P S | g3 wed
FH H U AR B AT FE E
EEie, Adeisnand?
(A) P
(B)
(C)
)

Q
R
(D) S
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43.

45.
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iii) Arithmetical and Numerical Ability

if 1 is added to the denominator of a

]
fraction, the fraction becomes E' If 1

is added to the numerator, the fraction
becomes 1. The fraction is

(B)

| G

(A)

0) —

(©) 11

i &

Two roads XY and YZ of 15 metres
and 20 metres length respectively are
perpendicular to each other. What is
the distance between X and Z by the
shortest route ?

(A) 35metres
(B) 30 metres
(C) 24 metres
(D) 25 metres
3 coins are tossed simultaneously.

What is the probability that all heads
appear on the top 7

(A) P (B) 3
1 3
(C) 3 B) 3
3
Sﬂ+32x32+3‘2:?
(A) 16 (B) 13
(C) 15 (D) 3
P:Q=2:3Q:R=2:1,P:R=?
(A) 4:3 (B) 3:4
€y 2:1 (D) 3:1

12-

46, How

47.

48,

49.

o0,

many different letter
arrangements can be made from the
letters of the word ROAST 7

(A) 60 (B) 120
(C) 720 (D) 240

PA and PB are two tangents drawn
to a circle from an external point ‘P".

If PA = AB, |APB =7
(A) 80° (B) 70°
(C) 80° (D) 120°

A. B, C are the centres of three circles
touching each other externally, with
radii 3 cm, 4 cm and 5 cm respectively.
Find the perimeter of A ABC.

(A) 10cm (B) 12cm
(C) 24cm (D) 18cm

A ABC is an equilateral A with side
5 cm. Area of AABC is

(A) /3 %25 sq.cm

(B) E?xf: sg. cm
(C) ?KE sq. cm
J3

(D) —4—34 25 sq.cm

The number of planes of a regular
hexagonal prism is :

(A) 6
(B) 4
(C) 8
(D) 10
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44,
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ifi) SrETRTE T HEATeHE F T

| gfruE v & a1 e @ e e

ﬁm%ﬁm%mﬁmﬁ%ﬁaﬁ%
LAt =R e

5
B) 3

(A) .

10
©) 3

wing =4

(C)

wY 3 YZ % 2 T i EE: 15 H iR
sl 20 Hex T w8 ol A4
sfirena & | X 30 Z3 o= 6 3l =ad

T AT R 7
(A) 35HH
(B) 30HIA
(C) 24 HiX
(D) 25HTeX
3 i weh Ty IR T R | RN ATl
2 for, aft foreent 3 vt s e o ()
Brft 7
1
™ 3 ® 3
1 3
€ 3 0 3
b .4
99 .32 «32 132 =17
(A) 16 (B) 13
(C) 15 (D) 3
| P:Q=213.Q:H=E:1,%,??iP:H=?
(A) 4:3 (B) 3:4
() 2:1 (D) 3:1

1%

48.

47.

48.

49.

50.

ROAST ¥/8 & 3@l § (e AT
el 3 e A @A T Ed 2 ¢
(A) 60 (B) 120
(C) 720 (D) 240

o et P foeg © e e R S Eis
di<t =i € | 3 PA=AB, |APB =7
(A) 60°
(B) 70°
(C) 80°
(D) 120°

A B3 CTR AR T & TR e | AT
1T ¥ HTUG F T FA & AN I
fsamise: 38, 48, s,
2 | A ABC i oftfr gem ifee |

(A) 10®.Hi. B) 12,
(C) 24T (D) 18€.HI.

A ABC 7 Ty Frenm 8 et 9+
5.1, % | AABC = &%

(A) 3x25 =i ..

(B) l;_gxﬁ a7 &.11.

(C) -?:(5 gl @ =i,

o) ?xesaﬁﬁltﬁ.

o Frafia wesER A Famae e €
(A) 6

(B) 4

©) 8

D) 10
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v i

o2.

53.

55.

¥2 — Bx + 9 = 0. The roots of this
guadratic equation are

(A} Real and different
(B) Real and equal

(C) Imaginary

(D) Cannot be predicted

Fora CTD of Rs. 10 per month a bank
gives Rs. 761 after 60 months. What
sum is given by this bank for a CTD
of Rs. 40 after 5 years 7

(A) 3,600 Rs.
(B) 3,500 Rs.
(C) 3,040 Rs.
(D} 3,044 Rs.

What is the GeometricMean between
4and 64 7

(A) 16 (B) 832
(C) 34 : (D) 18

Find the quarterly interest on the F.D.
of Rs. 12,000 at 6% p.a.

(A) Rs. 1,800
(B) Rs. 180
(C) Rs. 360
(D) Rs. 240

In a class 35 students wear shirt and
cap, while 25 wear coat and cap. If
10 students wear shirts, coats and
caps, find the number of students in
the class.

(A) 70
(C) 50

(B) 45
(D) 60

a7.

59,

60.

JDD-41/TGT-MATHS/X-14

Find the sum of all natural even

numbers from 2 to 42.
(A) 462 (B) 426
(C) 642 (D) 624

1+|='—.5. Py L =g
P p?

(A) 27
(B) 25
(C) 80
(D) 23

Write 53 = 125 in the form of logarithm
(A) logsb =125
(B) logg125=3
(C) logz125=5
(D) logs3 =125

Name the property of multiplication
{29x3ﬂ)xP=29x{3{}xP]

(A) Commutative property
(B) Associative property
(C) Closure property

(D) None of these

Marked price of a book is 20% above
its cost price. If it is sold at a discount
of 10%, what is the profit percentage ?

(A) 10%
(B) 20%
(C) 12%
(D) 8%

Latest Sarkari Jobs, Govt Exam Results,
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61.

52.

53.

54.

85.

x2 - 6x +9 = 038 gt Wi FE B
(A) FTeafas ofR =

(B) aralash 3R F9H

(C) FrHH

(D) wierssry 7 fomm s e

UF S 9 "It Fien § mifes
%10 IFEH % SFHR 60 REAI A%, 761
TATE | T8 AH 5. 40 % HAS W saeT H
Terer Tft 2m 7

(A) % 3,600

(B) % 3,500

(C) % 3,040

(D) %. 3,044

4 371 64 % 1= T TR WL TR 2
(A) 16 (B) 32
(C) 34 (D) 18

%. 12,000 =t smTOsh we% ufa
A=

(A) %. 1,800
(B) % 180
(C) ¥%.360
(D) %. 240

U e 35 e i sl veaE,
Sereh! 25 o] e afw 2t vead £
ufe 10 Fremeff i, e s 2 e
2, 1 39 Fa & feneffal f 9= 2
(A) 70 (B) 45

(C) 80 (D) 60

15

56.

57.

58.

59.

60.

JDD-41/TGT-MATHS/X-14

2 | 42 T & E@YTiHes 99 gl &
I et s

(A) 462 (B) 426

(C) 642 (D) 624

3%1+F=5%,ﬁP2+—1r=?
- p2

(A) 27
(B) 25
(C) 30
(D) 28

59 = 125 %1 wvie alis 4 fofan
(A) logs5=125
(B) logs125=3
(C) logs125=5
(D) logs3 =125

T[0T =1 TUIEH SaTEe
(29x3Q)xP=29x(3Qx P)

O forerTe 1 Sifera Ted 3w e
" 20% wfos ¢ | I 3@ R =1 10%
T ST ST B, T vieee | B
g 2

(A) 10%
(B) 20%
(C) 12%
(D) 8%

-
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iv) Test of Language :_Hindi

sre odvgron ; e
61 64 ST T[S I i TR ol | 64. (A) TH I @l
61. (A) Tt wRel S AW AT ] (B) Tt Fm @A
(B) o weel T e e (C) THT W @l
(©) W mEel T and (D) T 3R W

D) H oRelFHamAare
5 65T 69 Frsmeia wres =1 g forfan |

2. (A) HIEHd il

85. (A) TH
(B) o HE GH e
(C) G HA @l el
(D) TTET A G o
63, (A) TH 3 W I & a1 41 ke
(B) T i =y = fe ey
(C) T W w1 o fear —"
(D) T = A ©) W

Ax* 16~
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67. (A) ¥ 71.
(A) I
(B) #TER
: (B) TH
C
(C) g i
(D) 3T :
(D) FHgFH
68. (A) I 72, 37H
(B) “=rwo (A) 3T
(C) <r=ga (B) ™ 3
(D) TEw (C) FH
(D) form
69. (A) T
(B) 4 73.
ED} B‘Eﬂ.’ (B} HAEId
(C) 3
70 ¥ 74 Rregrds wse g fafav | (D) Trmm
70. 74. 3@
(A) TR (A) FuRmE
(B) =M (B) rafm i
©) T () ¥miRm
(D) fE (D) fE
A=* 17
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75. o HE) o e B 78, e e %I wgaE §9 8
\, (A) e (A) sl
i' (B) e (8) ekl
©) s e
(D) ekl
| (D) AR

79, et} wee 1 qfeT B9 R

76. FHEUAT — TEE! (I 7ee B R

(A) H3

(A) HICaHH
(B) TS

(B) FHEUHE
(C) Sl

(C) Fearen
(D) &

(D) FeGHT

g0, ud¥ee W @l e WRY |
27 TRy YIee 1 WEETHE G &7 8

W aEmiRl
(A) TR (A) IS
(B) TRIHT (B) aT=3 ‘
(C) el (C) ol
(D) =W (D) &=
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v) Test of Language : English
ST G0t ; ATt

Select the alternative which best
expresses the sentence in
Indirect speech. He said, “| have
passed the examination”.

(A) He said that he had passed the

examination

(B) He announced that he has

passed the examination

Directions (Qs. 84 and 85) : Select the
alternative which best expresses the given
sentence in passive voice.

84. Who gave you ice-cream 7
(A) Who has given you ice-cream ?
(B) By whom were you given
ice-cream 7 '
(C) By whom was you given

(C) He said that he had to pass the ice-cream 7

examination (D) Who had given you
(D) He said that he has passed the ice-cream ?

examination

Directions (Qs. 82 and 83) : Choose the
alternative to the underlined part of the given
sentence which may improve the sentence.

82.

83.

You cannot pass asg long as you
study.

(A) Provided
(B) Unless
(C) Less

(D) No improvement

All his efforts to find his lost child were
in vane.

(A) Vein
(B) Wane
(C) Vain

(D) No improvement

85. | will write a letter.
(A) A letter is writing by me
(B) A letter will be written by me
(C) A letter has written to me
(D) A letter has been written by me

Directions (Qs. 86 and 87) : Choose the
alternative which can be substituted for the
given words/sentence.

86. Study of birds.
(A) Ornithology
(B) Topoclogy
(C) Geology
(D) Theology

87. The line where the land and sky
seems to meet. =

(A) Atmosphere
(B) Milky way
(C) Horizon

(D) Distand land

CEN
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part of a sentence (A), (B) or (C) has an error.

: t eaning of the given word
If there is no error, your answer is (D). he meaning give

“EMPHASISE’
g88. These all (AYmangoes (B)/are ripe. (C)/ (A) Amend
No error (D) (B) Stress
89. The library members were asked (A)/ (C) Steal
to return back the books (B)/ to the (D) Hate

library. (C)/ No error (D)

90. Each of these girls (A)/play (B)/ 95. The plural of tooth is

games. (C)/No error (D) (A) Tooths
(B) Toothes J
Directions (91 and 92) : Choose the correct
alternative and fill in the blanks. (C) Toai
A (91) friend is not (92) to give an honest (D) Teeth
suggestion.
96, Pasttense of ‘teach’ is
91, (&) Tue (A) Teached
B) Truth
8 I (B) Teacher
(C) Truthful
(D) Truly (C) Taught
(D) Taut
g2. (A) Fear
(B) Afraid Directions (Qs.97 to 100) : Read the passage
(C) Fright carefully and choose the best answer
(D) Fret accordingly.

93. Find the word which is most opposite

] J . Many of the serious health concerns in
in meaning to the given word

‘REJECT' modern America can be linked to poor diet. -

(A) Return People who regularly consume foods high

(B) Repent in sodium, sugar and saturated fats not only

(C) Accept increase their chances of obesity, but also

(D) Repeat increase their risks of developing heart
A=* 20-
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diseases, diabetes and several types of g8. Food deserts are A
cancer. Although some people who regularly
consume unhealthy foods do so knowingly,
there is also a significant portion of the chains
population that remains under-educated
about proper nutrition. What is more,

(A) areas having large supermarket

(B) low-income areas without access

individuals who live in food deserts-areas in o hedhyiond

low income neighbourhoods that lack easy (C) areas having large scale
access to healthy, affordable food — may not plantations »

even have the opportunity to obtain nutritious

food. Food deserts are located in high- (D) areas having large number of
poverty areas, such as sparsely-populated restaurants

rural areas or densely populated, low-
income urban centres. Food deserts most
often develop when major super market
chains either relocate out of these areas or (A)
simply refrain from building stores there.
Major food retailing chains tend to limit their
store locations to wealthier urban or sub (B) people donot like eating fresh food
urban neighbourhoods. This means that
those who live in high-poverty areas often
also live miles away from fresh meats, dairy (D) most remain under-educated
products and produce available at

99. Food deserts are formed when

major super market chains are
unavailable in some areas

(C) people relocate to new areas

about nutritious food
supermarkets. Furthermore, fast food
restaurants are disproportionately
concentrated in low-income areas. 100. People belonging to low-income
group mostly resort to
97. Serious health concems in modern
America are related to (A) fresh milk and vegetables
(A) smoking (B) gambling 2
(B) fastlife :
(C) rash driving
(C) poor diet
(D) loneliness (D) fastfood
Ax 21-
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SECTION - B

101.

102.

103.

104.

Post Specific Subject-Related Questions

Decimal expansion of an irrational
number is

(A) Non-terminating, recurring
(B) Terminating

(C)
(D)

Non-terminating, non-recurring
None of these

If x=+/3++/2, then value of x 2 is
(A) B3-42
(B) 5+2V6
(C) Ja+42
(D) 5-2V6

The value of the expression

0.8x 0.05
0.004

(A) 10
(B) 0.1
(C) 100
(D) 0.4

is equal to

[fon—2n-1_ 4 thenthe value ofn" is
equal to

(A) 8

B) 9

(C) 27

(D) None of these

105.

106.

107.

108.

The equation x* — 5|x| + 6 =0 has
(A)
(B) Four real roots
(C)
(D)

Two real roots

One real root

Mo real root

The equation |x + 4| =—4 has
(A) Unigue solution

(B) Two solutions

(C)
(D)

Many solutions

No solution

Sum of two irrational number is
(A) Rational
(B) Irrational

(C) Real

(D) None of these

An odd degree polynomial equation
has

(A) Atleast one real root~
(B) No real root

(C)
(D)

Only one real root
Nene of these
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. B

101.

102.

103.

104.

e o O
uree Tt fRrag—w=at we

T T w1 et ferearo €T
(A)  3TEfE, sl

(B) i

(C) i, sl

(D) T HE AL

afe x=JB+428, Ax2 FHAL
(A Ja-2

(B) 5+246

(C) Ja+42

(D) 5-28

0.05
0.004

(A) 10
(B) 0.1
(C) 100
(D) 0.4

0.8% TR ol Hed ek Sa ©

fg on —2m1 = 42 Tl n"E o THH
R

(A) 8
(B) @
(C) 27
(D) 348 & S TEI

105. X2 —5{x| +6= 0 iR % 8

106. |x +4| =—4 T H 2

107. = TqRE gEATe e
(A) TR
(B) HUREA
(C) A=
(D) FH HHE AL

108, o wTa SEUE W % B
(A) FH T FH TF TRAIE T
(B) rE FrEaias qe el
(C) ol U areaiesh e
(D) 0 & IS R
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109. The sum of two numbers is 50. The | 113, A bag contains & red and 4 green

110,

i &

112.

fraction obtained by dividing the larger
number by the smaller number is %
The numbers are

(A) 25,25

(B) 10,40

(C) 16,35

(D) 20,30

Mother's age is three times the age
of her son. After 5 years their ages will
add to 66 years. What is the present
age of the motner £

(A) 45 years
(B) 42 years
(C) 55years
(D) 30 years

The arithmetic mean between the
numbers (x +y)* and (X —y)2isequalto

(A) X2 +y?

B) (x+y)?

(C) ox2 + 2y2

(D) None of these

The sum of the finite series
5+8+11 +..4+47+501is

(A) 442
(B) 440
(C) 244
(D) 435

Latest Sgrkari Jobs, Govt Exam Results
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balls. A ball is drawn at random from
the bag. Find the probability that itis
either a red ball or a green ball.

(A) 1

B) 3

’
©) 3

Dy S
114, Seven persons are to be seated ina

row. The probability that two particular
persons sit next 1o gach other is

d:
(A 3
’
B 3
2
c =
3
D) 3

115. For any event E, if P(E) = 0.999, find
the value of P(not E).

(A) 0.1
(8) 0.01
(C) 0.001

(D) Mone of these




108,

110.

111

112:

31 TEET] w1 S 50 | € weeA &
B e wm e & 9, w5 i frermn
2 13uENE
(A) 25,25
(B) 10,40
(C) 15,35
(D) 20,30

o it 3 39 s F I B A 2
5 Hiel & 918 3951 391 %1 512 66 9=
=1 | |1 o e I R R 7

(A)
(B)
(C)
(D)

45 9T
4291
55 9T
30 9Ted

(x+y)2 3 (x—y)? T EERF
e =R FPTIeH e TS ERE SR @

(A) x2+y?

(B) (x+y)?

(C) 2x2 +2y2

(D) 378 A =T &

5+8+ 11 +...+4?+503H‘Clﬁ'ﬁm
ST S AT R

(A) 442

(B) 440

(C) 244

(D) 435
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113, oA eT@INARTMFTRE)

Sreft 1 I ek e e wer ® | 3
Ttz =] AT 31 E0 B o HHEIAl R

(A) 1
(B) 3

P | —=

(C)

(Dy 5

AT s ] A e € | A R
fere ToF a3 U S il ST 8

| =

(A)

|-

(B)

(C)

~1|na

B | =

(D)

firdt E gftorm & fu a2 P(E) = 0.999
# 1 P(not E)S1 H& TaT Fhiferg

(A)
(B) 0.01

01

(C) 0.001
(D) TH BT AR

-

—
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116. Mean of 100 observations is 45. lt was 119. Hg={(1,1),(2,3),(3,5), (4, 7)}isa
later found that two observations 19 function described by g(x) = ax + b,
and 31 were recorded incorrectly as then what values should be assigned
91 and 13, then the correct mean is toaandb?
(A) 44.46 v 1,1
B 1,-2
(B) 44 ©) 2.1
() 45 (D) -2, -1

(D) None of these

120. The remainder when the sum of

Ol + 11+ 2! +...+99! + 100 !, divided by
117. The decimal number

12is
1.23657657657657... is equal to the -
rational number (A) 6 -
(B) 5
A %% (€ 11
o35 (D) 10
B " ase0
123657 121. The number of positive divisors of
© A 00000 252 is |
A) 5
(D) 123534 _ {
49900 ® 9
(C) 10
118. Let x and y be real numbers and (D) 18

K={(x,y}[3J=l,xw} 01
X : 122. If a and b are positive integers such

that a2 — b2 is a prime number, then

Y={(x y)| y=-x] betwosets then a2 — b2 is equal to

(A) XnY=X (A) a-b g
(B) XnY=Y B) a+b
(C) XnY=¢ . (€) ab
(D) XuY=X (D) 1
Ax 26-
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1186.

TV

118,

100 STEEATFA] HIHET 452 | S 1 98
Tat el 7 21 Al 1 TAdE 19
AR 31 % F99 91 R 13 e &
TR 4T | R 9T 3w

(A) 44.46
(B) 44
(C) 45

(D) FH & %I T

FEHE HEAT 1.23657657657657...
TE 39 T T & sUeE e

w e
® '2%es0

By T

T wifere R, x 3 y arafas geand 2
3T x:{{x,yﬂ y:%,x #U}_f

Y={(xy)|y=-x}maogad @

(A) XmY=X
B) XnY=Y
(C) Xn¥=2¢
B) Xuy=X

119.

120,

| 121,

122.
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AR FE g={(1,1), (2,3).(3.5). (4,

rg(x) = ax-+ b 3 At Brr SR, A1
a3t b mwwﬁmm@n?

(A) 1,1
B) 1,-2
(C) 2,-1
D) -2,

HHO!+ 11+ 2! +..+ 99! + 100, F g
F 128 9 s 2, e Sy waa e

(A) &
B) 5
) 11

(D) 10

252 % HH W I HEA &
(A) &
(B) 9
(€ 10
(D) 18

R asmb I E is R, maeH
a2 — b2 TSI G 8, 1 a2 - b2
T T SO 8
(A) a-b

(B) a+b

(C) ab

(D) 1
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123.

124,

125.

S —————————————

The value of x satisfying 150 x = 35

(mod 31) is
(A) 14
(B) 22
(C) 24

(D) 12

tang = _T—Band 8 lies in the second

quadrant, then sin 8 is equal to

(A)

o h

(B)

@ | ha

0| w

(C)

(D)

o |

One root of the equation tan x = x is

(A) x=0

(B) x=

n A

(C)

K=7

MNone of these

(D)
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A person at the top of a hill observes
that the angles of depression of two
consecutive kilometer stones, on a
road leading to the foot of the hill were
30° and 60°. The height of the hill is

(A) 2

If A={a b, c},B={bc, d and
C={a, d,c}, then (A-B)x (B ~C)is
equal to

(A) {(ac),(a,d), (b,d)}
(B) {(c.a).(d, a)}
(C) {(a b), (c,a)}

(D) {(a c), (a,d))

Itf:R—> Risdefined by f(x) = [x|, then

L
(A) f (x}"m
B) f1)=-x

— o | X
) f {K)—x

(D) The function f~1(x) does not exist
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123.

124.

125.

150 x = 35 (mod 31) ! T Te=ITeh Fd
¥ forg x 1 A B

(A) 14
B) 22
(C) 24
D) 12

tang = -—%aa‘lt o TR g Hguin T 8,
it sing mﬁ?m%

(A)

on

WM

(8)

»|w

©)

D)

tan x = x FHISHTT 1 T 7 B
(A) x=0

3 T
) EEg

€} ==
(D) FH A 1S

126.

127.

128.
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@mﬁmﬁra‘rﬁ%mtﬁ,
a9 7% ST Ted o 81 SER
Fretrter Teerl 3 STaEA 0 30° 37K

BO°E | T RIS HI FuE &
(A) 2

(B)
(©)

(D)

oG &ls Gl

afg A ={a b, c}, B =,c,d 3
C={a dc}? TA-B)x(BNC)
AUEUE

(A) {(a c), (a,d), (b,d)}
(B) {(c,a),(d,a)}
(C) {(a,b),(c,d)}
(D) {(a,c), (a,d)}

gzt R>R® f(x) = x|, & ahoafa

Ao e, @

=
m o=

B) 1(x)=—x
(C) f"‘(x::%
(D) (%) e e i 8
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!;LEZ} 129. The real root of the equation 133. The roots of the equation ax? + bx +c =0
lf% x*-6x+9=0is are o, B, then equation whose roots
lg (A) -6 o
| (B) -9 are 3 is
(C) 6

(A) ax®—-bx+c=0
(B) bx®—ax+c=0

(C) cy?+by+a=0

Dy -3

130. The digit in the unit's place of 5834 is

(A) 5
(B) 0 (D) by?+cy+a=0
(C) 1
) 3 134. The number /2 & is :
(A) A rational number i
131. The value of sin E is same as
2 (B) A transcendental number
the value of (C) Anirrational number
i 8n (D) An imaginary number
(A) sin (T
5% 135. |Ifthere are 12 persons in a party and
(B) sin (TJ it each of them shake hands with
each other, then number of hand
5 shakes in party are
(C) sin| —
4 (A) 66
o2 [9“ (B) 48
(D) 4) (€) 72
(D) 132

132. If roots of the equation 3x2 + 4x+7=0

: L
are o, B, then value of —+= is 136. Thevalueof ("Cy+7Cy) +(7C; +7C,) _

equal to " +.4+(7Cz+7C,)is 5
_3 '3 (A) 28-1
n ® = (B) 28-2
=S -7 (C) 28+1
Ax Y
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(A) -6
B) -9
(C) &
(D) -3

130. 583435 g W BNam ot 2
| A) 5 '

f (B) 0

,' (C) 1

| ©) 3

e —

131. sin [13"] =1 54 6 e % S 2

132, =R 3x2 +4x + 7 = 0 i F gm
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129. x3-6x + 9 = 0 T H A 133.

| 134.

135.

136.

JDD-41/TGT-M

AR ax2 + bx + ¢ = 0 THER

o, B 2, 41 fora wefiemon & g

L

(A) ax®-bx+c=0
(B) bx®—ax+c=0
(C) cy?+by+a=0 ,
(D) by?+cy+a=0

V2 e TE mEar
(A) ofor g

(B) Hsffefamn
(C) smfEgaEm
(D) Freafe g

afE o e § 12 3fF # of g o
T A 3794 & g enman 2, o sem
% R T gy frer e 7

(A) 66
(B) 48
(C) 72
(D) 132

("Co+7Cy) +(7C1 +7C)) +.+ (1G4 +7C,)
14 8

(A) 28—1

(B) 28-2

(C) 28+1

(D) 28

-




Eg JDD-41/TGT-MATHS/X-14

E‘k 5 137. For any two sets A and B, the value | 141. The solution setof [2x + 3| >5s
; of the set A~(AUB)® is (A) (~w,—4)
14 (A) AS (B) (1, )

(8) BC C) (~,-4)u (1,=)

(D) None of these
) ¢
(D) B

142, 1 f(x) = 35+—: (x = 1) is areal function,
K o ¥

then f(f(f(2))) is equal to

138. Ifthe area of a triangle having vertices

(2,7), (5, 1) and (x, 3) is 18 sq. units, (A) 1
then the value of x is (B) 2
(A) 10 C) 3 |
®) 2 k3 g
ezt 143. Which of the following limit does not
(D) —10 exist ?
(A) “fﬂﬂm
139. The coordinates of the point which DI e

divide the line segment joining the

points (8, 9) and (~7, 4) internally in By Jm ainx
theratio2:3is
li X

(A) (7.2) © | Tnm

B) 2,7) %

(C) (-7,2) (D) None these

(D} {Er _?}

3 X
144, The value of IE [Hﬂ is

140. Two angles of an isosceles triangle 1

are always

(A) Equal w ‘

B) &°

(B) Equal to 45° :

(C) Equal to 60° © 2

(D) MNone of these ' (D) 1
A* -32-

L —

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click v
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137.

138.

139.

140.

A 3R B et 2 gl & forg, aa=a
An(AUB)C FTHF R

(A) AC

(B) BC

€) ¢

D) B

afi (2, 7), (5, 1)3 (x, 3) Ry It
U B 1 89S 18 5q. THE R, @)
xﬁﬂﬁﬁ

(A) 10

(B) 2

c) -2

D)y -10

Bg (8.9 (7,4 :2:3 %
Terenfore st et forg = fSarie 8
(A (7.2

B) (2,7)

€ 7,2

(D) (2,-7)

g geng e & 9 Forgim e #
(A) HEH

(B) 45°%F S

(C) 60° % SR

(D) T4 %8I

141,

142,

143.

144,

Latest Sarkari Jobs, Govt Exam Results,
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2x + 3| > ST U EE=AR k
(A) (~w0,—4) M
B) (1, =)

C) (~x,—4)u (1, ®)

(D) Thi @ wg

rx) = 227 (x 1) TR R o

X-1
2, A(T(1(2))) 30 wra
(A) 1
(B) 2
(C) 3
(D) 4

e 1 | Fad) dio sfera § 2 7
(A) lim [x]

X—=0"__
X

(B) ,!'_Tuﬁ'““
X
X
©
COoS X

(D) T & Fr 7




145,

146.

147.

148.

Value of the limit lim 2o A is
-0 X
(A) 1
(B) 2
1
(C) >

(D) None of these

sin28°

Value of g0 1S
(A) 1
(B) 0
1
) -3

(D) None of these

A two-digit number is such that the
product of its digits 12. When 36 is added
to this number, the digits interchange
their places. The number is

(A) 62
(B) 36
(C) 26
(D) 48

If the roots of the quadratic equation
(4+m)x2+(m+1)x+1=0areequal,
then the value of mis

(A) 5
(B) 4
(C) 2
(D) None of these

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

1489,

180.

151.

152.

JDD-41/TGT-MATHS/X-14

Ifsin(A+B)=cos {A—B}:if-. acute

angles of A and B are
(A) 45°and 15°

(B) 30°and 60"

(C) 15°andB0°

(D) None of these

Valie of i 1+2+3+...+n
N—»= nz :

equal to
(A) ©
(B) 1

neNIs

© 3

(D)

B

The number of points at which the

fncion  f)=—'— is not
X~ [x]

continuous is

(A) 1

(B) 2

(C) 3

(D) None of these

x =X -~
Ify= :x "_L:__, then % is equal to
(A) sech?x
(B) cosh2x
(C) —sech2x

(D) - cosech®k




145.

146.

147.

148.

a1 FewaTe! e wH @ e s
THRA 12 B | 39w § 36 e |
3751 1 7T e B I wEe el
2 REENR

(A) B2

(B) 36

(C) 26

(D) 48

ARG +m) B+ (M+1)x+1=0%8
ot wft F e WA B, 9T m
EoRe

(A) 5

(B) 4

C) 2

(D) §7H @ g A8l

149.

151.

152.

JDD-41/TGT-MATHS/X-14

If& sin (A + B) =cos (A-B) = "r%.
a1 A 3R B =TT & R &

(A) 45° 3R 15°

(B) 30° 3R 60°

(C) 15° 3R 60° -
(D) ¥9H & i

im 1+2+3_+...+nJ neN 1564

n-se n®

TF T 2 -
(A) O

(B8) 1

(©)

(D)

f{x)——mms:ﬁgaﬁmﬁm

X = [x]
EEIR
(A 1
(B) 2
(C) 3
(D) 38 @ Ae

afy=S o b, @ et

(A) sech?x
(B) cosh?x
(C) - sech?x
(D) - cosech2x

Latest Sarkari Jobs, Govt Exam Results, m
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153.

154.

155.

156.

If x* = y¥Y then % is
(A) T

B -

(©)

X
1+ —
e [y]

If f(x) = be?* + ae, then {"(0) is
equal to

(A) 0

(B) 2ab

(C) ab{a+Db)

(D) ab

logx
1ff{x]={x—1

K if x=1
atx =1, then the value of K is

(A) O
(B -1
(C) 1
(D) e

is continuous

If f(x) is an even function, then f(x) is
(A) An even function

(B) An odd function

(C) May be even or odd

(D) Nothing can be said

157.

158.

158,

JDD-41/TGT-MATHS/X-14

2 -1 4
if = and
2A + 3B l:s 5 5]

5 0 8
= thenBis Ito
A+2B [1 6 2} egua

I T '
A {1 10 1

8.1 2
® |-110 =%

& -1 2
©) [-1 10 -

(D) None of these

1 -8
IfA:L K}andhz—4A+1nl=A.
then K is equal to
(A) 1or4
(B) 4andnot1
(C) -4
(D) O

If (2 3][ 1 E}H —0, value of xis
_3 ol|s

23
A S

® 5

13
2
=£9
2

(C)

(D)
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153.

154,

155.

156.

zlﬁx’C:}F?%,?ﬁ%% 157.

=K
Y
=3
X
T+ logx
1+logy

()

a2 f(x) = be* + aet* R, 7t 17(0) 3%

(A)

(B)

(C)

(D)

A 2
(A) O
B) 2ab
t(c:? abia+5) 185
(D) ab
logx
TR 1) = % if)(i‘i_qu=1q_{
K ifx=1
R, MTKFTeE &
SyA) 0 159.
(B) -1
€ 1
(D) e
afg fx) T AR B, A £(x) T
(A) TH FEH
(B) v e
(C) wwarfawm & wwar 2
(D) wfRfEE

® Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

[& 4 2]
-1 10 -1}
(& =1 2]

<
© -1 10 -1

(D) = | =

4, e

zﬂ%.q:L, ﬂaﬁuﬁ-mnm;&
2, a9l K39 SUet &

(A) 1774

(B) 43R 172

(C) -4

(D) 0

afi(ox 3)| | EHQ} -0, dIxd

-3 0
) =
® = >
© 5
0 —




160.

161,

162,

163.

164.

The value of 1°C, + 19C, + 1°C, + ...
+10Cgis

(A) 210 (B) 21

(C) 2¥-2 (D), 219 -1

If (x — 1) is a factor of x5 — 4x3 + 2x2 —
Ix+K=0,thenKis

(A) 4

(B) —4

(C) 2

(D) 3

i %b+ﬂ} and %b-c} where

a,b,ce Nthen
(A) a2 =b?(modc2)
(B) ¢? = a?(modb?)
(C) a?+c2=b2
(D) b? = c2(mod a?

if a, b and ¢ € N which one of the
following is not true 7

(A) g and 380
(B) %+c:>%and%
(C) 28 andb/ =8/

(D) %a"d%:}%ﬁmzc

The equation x% — y2 = 0 represents
(A) A circle

(B) An ellipse

(C) Pair of straight lines

(D) A hyperbola

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

165.

166.

167.

168.

———————

JDD-41/TGT-MATHS/X-1

dx.
Jsinz xcos2 x 18 equalto
(A) tanx+colx+c
(B) (tanx +cotx)2 + ¢
(C) (tanx—cotx)®+¢c
(D) tanx-—cotx+c

3

x%dx .
[ is equal to

o2 3
(A) “+“x§+% —log |1 x| +¢

i‘ |

2 3

X X

(B) 3'("‘?——5' —log|1—x|+c¢
2 3

(©) x—%+% —log |1+ x| +¢

(D) None of these

The area of an equilateral triangle
whose side is 5 cm is equal to

(A) J3x 6.25cm?
(B) J3x 5.25cm®

(C) ‘\1'5 % 25 cm2
(D) None of these

The hollow sphere, in which the circus
motor cyclist performs his stunts, has a
diameter of 7 m. Then the area available
to the motorcyclist for riding is

(A) 59 n m?

(B) 50 m m?

(C) 49 = m?

(D) None of these




55

160. 19C, +19C, +19C, + ... + 19C, Fea &
(A) 210 (B) 211
(C) 2%0-2 (D) 2101

161. AT x5 -4 + 262 —3x+ K =01
(x— 1) PAEVE R, AIKE
(A) 4
(B) -4
(cy 2
(D) 3

TR Yo v o) MR Y- T
a,b,ce N&, @

(A) a2 = b? (modc?)

(B) ¢2 = a2 (modb?)

(C) a+c?=b?

(D) b2 = ¢ (mod a2).

ﬂﬁa.bafﬂGEN%,'?ﬁﬁEﬁﬂW
g e 22

(A) %m%:’%m

® %.c=>%3 Y%

© 8 Y=

(D) %#“%:}%mzc

X2 —y?=0 I& FHFT FHFI
yfeffe s e

(A) =@

(B) Heigw

(©) dref vEr

(D) FfdwEea

162.

163.

164.

165.

168.

167.

168.

Latest Sarkari Jobs, Govt Exam Results,
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dx
’[s‘ing}}thszx WW%

(A) tanx+cotx+c
(B) (tanx +cotx)? + ¢
(C) (tanx —cotx)®+ ¢
(D) tanx-—cotx+c¢

[xgd}{ TE 0 T &
X +1

2 3

(A) x+%+% —log|1—x|+c¢c

2 3

(B) x+%—% _log |1 —x| +¢

xE 3

() x—~2—+%—log|1 £x|+c

(D) wH AHE T
5 H.11. IETETS TS ETE SR

o U B
(A) B 6.25cm?

(B) J3x 5.25cm?

(C) JBx 25cm?
(D) T HFE AR

T4 1 HiETERee 3 e e Tee
2, T W e 1 = 7 W B
AREERECE F 8GR & e s e
et

(A) 59 ™m?
(B) 50 nm?
(C) 49 mm?
(D) o9 B wrd A




170.

A*

169.

171.
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Which of the following set is a basis
of IR*?

-
i

4
(A) E [2

Let T:IRZ - IR” be a linear
transformation defined by

T(x,y) = (x+y, x=V.y). Thenthe rank
of Tis

(A) 3
B) 2
(C) O
(D) None of these

If A and B are symmetric matrices of
the same order, then (AB!— BAY) is
(A) Symmetric

(B) Null matrix

(C) Skew symmetric

(D) None of these

172

173.

174.

175.

JDD-41/TGT-MATHS/X-1

(1 2 4 |
Thematnx‘s o &/ hasone eigen

|"1PJ

value equal to 3. The sum of the other |
two eigen valuss is |

(A) p-2

(B) p—1

(C) p

(D) None of these

1t §(x) = sin? (x) + 3 cosx — 5, then f(x)is
(A) Aneven function

(B) An odd function

(C) Monotonic

(D) None of these

The number of elements in the se
S ={(a, b) | 2a% + 3b° =35 ; &, b are
integers} is

(A) 8

(B) 4

(C) 2

(D) 12

In & frequency distribution, the mea
and median are 21 and 2
respectively, then its mode:|
approximately

(A) 20.5
(B) 25.5
(C) 24
(D) 22



ket

169, Frrd AT ETE RO AR 7

170.

171,

- B

)

(f1Y (12) [0}
o (1]
'LL D; K 7 7 1,}_

oy SRR T: IR > IR° wHET
FAFEI R T(X, ¥) = (X+y, x—V.Y)
Rt s | T TR
Ay 8

(By 2

(C) ©

(D) FAH B HE

a2 A 37T B T w E o a e s
£, 91 (ABt-BAYE

(A) wafEE

(B) 3¥pa e

(C) famm gwitm

(D) T & EE A

172.

173.

174.

145,

-41-
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1 2 -ﬂ

\S 0 & Hfess =1 @ FH (eigen)
11 pJ

ey 3 % s & | S 3 e
e

a2 f(x) = sin? (x) + 3 cosx— 58, (X
(A) EHFEH

(B) foum weH

(C) T

(D) TH G &S A

S ={(a, b)|2a%+3b%=35;a,b
@hﬁ}aﬁﬁﬁﬁmﬁﬁﬁ@n%
(A) 8
(B) 4

C) 2
(D) 12

s SrERal Fved i w3 At
Fua: 21370 227 | ¥ g @R
(A) 205

(B) 255

©) 24

(D) 22

o




: U

178.

178.

180.

Every homogeneous equation
fix, y, 2) = O represents

{A) Sphere with centre at origin
(B) Cone with vertex at origin

(C) Cylinder

(D) MNone of these

If altitudes of a triangle are in A.P. then
sides of the triangle are in

(A) A.P.
(B) G.P.
(C) H.P.
(D) None of these

Let R = {(x, y) | x + 2y = 8} be a relation
on N, then domain of R is

(A) {1,2,3}
(B) {1,2 83,4,5, 6}
(C) {1,8,5)
(D) {2,486}

If three positive integers a, b, carein
G.P., then loga, logb, logc are in

(A) AP

(B) G.P.

(C) Both A.P.and G.P.
(D) None of these

If log ;z 81=x , then the value of x is

(A) 4
(B) 8
() 16
(D) 32

Latest Sarkari Jobs, Govt Exam Results, m
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181.

182.

183.

184.

JDD-41/TGT-MATHS/X-

= n!
T ln-nin
"C, +"C, _, is equal to
(A} n+Tcr
(B) "C .4
(C] r'|=+‘|Cr 4 X
(D) None of these

then the sum

If [x + 3| = 10, then

(A) xe (-13,7] <
(B) xe (-13,7)

€) Xe&(-=,-13)u [7, =]

(D) None of these

How many terms of the

3 3

GH. 3. =

PUVEROTE- needed to give

2
the sum 512

(A) 8

(B) 10

(C) 9

(D) None of these

If ax + by = ¢ is tangent to the circle
X2+ y2= 16 then

(A) 16(a2+b?)=c2
(B) 16 (a®-b?) =c2
(C) 16 (a®+b?)=—c2
(D) 16(a®-b%=-¢2




177.

178.

179.

180.

e gaETd Gl f(x, ¥, Z) = 0 SHe

R wE e

(A) HEIRRg T AT T
(B) Teferg W Rrlifergaren oig
(C) o

(D) T g T

af uE B & siderm AP R, @
Feror e e gud el

(A) AP,

(B) G.P.

ey BP0

(D) FRAFEFE
H:.{{x.y)|x+2y='3}-ﬂﬁﬂmm?ﬂ
T difer | T8 H R W ©

A {1.2,3)

(B) {1,2,8,4,5,6}

(C) {1.3.8}

D) {2.4.6}

af% a, b, caR AT EIRSAAL HE,
@t loga, logb, logc 369 §

{A} AP

(8) G.P.

(C) AP.3MRGP.ZH

(D) THHEFEFE

?I& lﬂgﬁs'{:x%: Ehxﬁ!ﬂ?ﬁ%

>
Tt S S

B

CIGIC
W — m A
n M
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181.

182.

183.

184.

u-ﬁ':“c,—{n r)l 5

JDD-41/TGT-MATHS/X-14

%?ﬁC'ﬁ'"Cr*

747 565 WU 8
{A} n+1cr

(B "
(C) n+1'cr+1

rs-1

(D) T HFIE AL

ﬂﬁ[x+3|:1ﬂ%,?ﬁ

(A) xe{-13,7] L
(B) x € (-13,7)

(C) xe (-»,—13]u [7, «]

(D) FHA®E T
24 Gﬁtﬁ%ﬁﬂ%ﬂﬁﬁﬁﬁ

He T v aEa 2 ?

(A) 8

(B) 10

C) 9

D) T & IS A |
|

A x2+y2=16ga hlax +by=c Tg P

e &, a1 e

(A) 16 (a2+b?)=c?

(B) 16(a2—b?)=c?

(C) 16(a®+b?)=-c

(D) 16(a2-b?)=-c?




185.

186.

187.

188.

188.

The function y = f(x) has a relative 190.
minima where
(A) f(x)=0andf(x)<0
(B) f(x)=0andf (x)}>0
(C) fix)=0and f'(x)>0
(D) f(x)=0andf(x)<0
If volume of a sphere is 367 then its
surface area will be 191.
(A) 18w
(B) 6™
(C) 12w
(D) 36
Let average of three numbers be 16.
If two of the numbers are 8 and 10,
what is the remaining number ?
(A) =30
(B) 18
(C) 12
R 192.
The distance of the point (2, 3, 4) from
the plane 3x—6y +2z+ 11 =0Is
(A) 8
(B) 7
(C) 10
(D) None of these
How many real solutions are there for
the equationx*-2=07
(A) 1 (B) 2
(C) 3 (D) 4
44

Latest Sarkari Jobs, Govt Exam Results,
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The value of x for which the points
(x,—1), (2, 1) and (4, 5) are coliinear is

(A) —1
B) 2

(C) 1
(D) None of these

A five digit number is formed by using
the digits 1, 2, 3, 4, 5 in a random ordei
without repetitions. Then the
probability that the number is divisible
by 4 is b=

& %
() %
© Y%
© 8

A coin is tossed 3 times. Th
probability of getting head and fa
alternatively is

1
A 7

B =

(C)

O

o w

(D)




186.

187.

188.

189,

.y = f(x) eI T HTHE =T B 8 SR

(A) f(x)=03M{(x)<0
(B) f(x)=03W (x)>0
(C) fx)=03R (>0
(D) f(x) =03 " (x) <0

4% U g7 1 TG 367 2, T IFH
53 e B

(A) 187

(B) 6m

©) 12%

(D) 367

mife 9 gEmeil & ohwa 16 2
IR AvEr 83l 108, Ms=h gEaEn
T2 2
(&) -30
(B) 18
(C) 12
(D) 30

8x — By + 22 + 11 = 0 HWaw § fag
(2,3, 4)Figlte

(A) 9

(B) 7

(C) 10

(D) FHAFE

x4 — 2 = 0 Tl & e I
YA E ?
(A) 1
(C) 3

B) 2
(D) 4

190.

181.

192,
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JDD-41/TGT-MATF

XTI A TR R (x, 1), (2, 1) 30
frgdE?

(A} =1

B) 2

(C) 1

D) %H & FrE '

1,2,3, 4, SIF A A Ew AR
U YA o U e e e wA :
TR | U H 9% HE 4 © 99 & # =
T 8 i
& %
B) 18
© %
©) %

@f&%ﬂh?ﬁqmwwhﬁ
3 oz fomeus: T AT AR

A 5 y
© 3 b



193. The local maximum values of the 197.
function f (x) = 3x* + 4x3 - 12x2 + 12 are

(AY 1
(B) 2
EE; ;2 (A) 12 't!r
B) 8 | .
(®) s
194. Number of subsets of a finite set with (C) 16 DR <
n elements are (D) Noneofthese N
(A) 2 ‘
(B) n! .
(C) n2 198. How many integers from 1 to 500 are
@) divisible by at least one of 3,5 and 7 2
(A) 271
| 195. The average of the squares of the (B) 266
numbers0,1,2,...nis (C) 337
(A) é n{n=+1) (D) None of these

(B) In (2n+1) : . : _
6 199. If Ais skew symmetric matrix, then A2

4 _ isa
| (©) gh+hEn+y (A) Null matrix
(D} None of these (B) Unitary matrix

; : C) Skew symmetric
196. A stone is dropped in quiet lake and © i

waves move in circles at the speed (D) Symmetric
of 5 cms~!. At the instant when the

radius of the circular wave is 8 cm, : 1LY
how fast is the enclosed area 200. Value of the limit J{_Taasm*ﬁ Is

increasing ?

ual fo
(A) 40 7 cmes™ :} 1
(B) 807 cm2s™ {B}. 0

(C) 60 = cm?s™!
(D) None of these

(C) not defined
(D) none of these

Latest Sarkari Jobs, Govt Exam Results, m
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183.

194,

195.

1986.

o) =3x*+ 3 - 12x2 + 12 FoH &
Tyt rflsan o

(A) 1

(B) 2

€y -2

(D) ©

n SEFET U Tiid *
(A) 2"

(B)
(C)
(D)

n!
ne

nl'l
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IMPORTANT INSTRUCTIONS TO CANDIDATES

FEHEERT & oy HEvagut 19

s

11. This booklet contains 48 pages.

12. Please check all the pages of the Booklet
carefully. In case of any defect, please ask
the Invigilator for replacement of the Booklet.

1_3{-fﬁlréclinns : Each guestion or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
corractly answers the question or complates
the statement and blacken (@) appropriate
circle A, B, C orD by Blue/Black Bail-Paint Pen
against the guestion concernad in the
Answer-Sheet. (For V.H. candidates
corresponding circle will be blackened
by the scribe)

14. Mark your answer by shading the appropriate
circle against each question. Tha circle should
be shaded completely without leaving any space.
The correct method of shading is given below,

Wiong Methad [Wong Mathod || Wrang Memed || Goomet Meted

QROOICEO 0080000

The Candidate must mark his/her responss
after careful consideration.

15. There is only one correct answer to each
5 guestion. You should blacken (@) the circle
ot the appropriate column, viz., A, B, C or D.
If you blacken (@) more than one circle
against any ona guestion, the answer will be
treated as wrong. If you wish to cancel any
answar, you should completely erase that black
mark in thecircle in the Answer-Sheet and then
blacken the circle of revised response.

16. A machine will read the coded information
in the OMR Answer-Sheet. In case the
information is incomplete/different from the
information given in the application form, the
candidature of such candidate will be treated
as cancelled,

17. Use the space for rough work given in the
Question Booklet only and not on the
Answer-Shaetl,

18. You are NOT required to mark your answers
in this Booklet. All answers must be
indicated in the Answer-Sheet only,
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Go through instructions given

in Page No. 1 (Facing Page)
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